Shooting Skeet with Sustained Lead                                     by Bob LaRue  NSSA Zone Instructor (Canada)

The NSSA Standards state that for all targets the recommended method is sustained lead.

What exactly is sustained lead?

In a nutshell this means that the muzzle of the shotgun is to match the speed of the target while maintaining the correct distance “or lead” in front of a target throughout the break zone. 

Once again, the muzzle of the shotgun must move upon the emergence of the target or “blur” so that the muzzle maintains the exact speed of the target at the correct distance “or lead” in front of the target throughout the break zone.

This is easy to say but much harder to accomplish. 
Even if the target was to fly at the same speed all the way beginning with it’s emergence to where we are supposed to break it,  from the perspective of the shooter the target actually looks like it changes speed throughout it’s flight. As a target gets closer to the shooter it seems to speed up and as it gets farther from the shooter it seems to slow down. In fact this is exactly what happens if you were to only consider the muzzle speed of your gun when matching the target speed throughout its travel.

At Station 4, where both the High and Low house targets stay at mostly the same angle all the way from the window to the centre stake, the muzzle speed required to match the target speed should actually stay quite constant all the way from the hold point to the break point. 

The best example of increasing muzzle speed is LOW 1 and High 7. On Low 1, the target leaves the high house window over 120 ft away at a very shallow angle heading almost directly towards the shooter. As it get’s closer the angle steadily increases from almost no angle to a full 90 degrees as it passes station 7. Even though the target is actually continually slowing down, from the shooter’s perspective, it looks like it is continuously speeding up.

The same is found with LOW 1. The muzzle has to speed up throughout the flight path of the target in order to stay the same distance in front of the target where the target is to be broken.

The reverse is found with HIGH 2 and LOW 6. To maintain a steady sustained lead, the muzzle would have to slow down as the target gets farther away. In other words, to exactly sustain lead High 2 and Low 6 throughout its entire flight path you would have start by moving the muzzle extremely fast and then continuously slow it down as the target gets further away or the lead would continue to increase and muzzle would simply blow by the target. This is why most people find high 2 and low 6 so difficult to master.

I can’t imagine how incredibly difficult it would be for a person to slow the muzzle speed down throughout the sequence in order to perfectly match the target speed of an outgoing target with a diminishing angle, like high 2 or Low 6. That kind of muzzle control is almost impossible on these close-in, quick moving targets. Speeding up to stay with an incoming target is like Low 1 and High 7 is difficult enough. 
So, how do we deal with shots that require decreasing muzzle speeds? We don’t! 

What we do is we hold the muzzle far enough out so that when we first see the target there is enough time to initiate the motion of the muzzle until the muzzle is matching the speed of the target in the break zone and we quite simply, do not worry about the muzzle matching the speed of the target anywhere before or after the break zone. Worry about the speed the muzzle must move where we are breaking the target and forget about everything else.
Think about this when shooting any particular target. Ask yourself if you are matching the target speed as it is speeding up or slowing down. Target speed and muzzle speed are two complete different things. 
The most important element to skeet shooting is eye on the target while matching target speed in the break zone.
